5]

WReY d2 e a6 DB
o = F(No) v Pl Gy + £ (°L°) EF 6506 4+ e g "“ﬁ:()xo—) (>~>)" +Rnlx)
. {

p.F (>0 + De
( X = )(0-4-0‘3(.

WV

, ”3 2 m _ "
Clotordd = FGd = E0d . s + F Zf;») O 4 F_hZL) (h)® 4 Rulaids)

oF = df o+ 5 dY e L + DDk
ﬁ-ﬁ ey AP SF Se '}}fnn O((o{x)“)
13500 2 RoA
dfz FPhgy. (dx) D0/fD
= d\"F L
d>" (o)
- e°'_( T T T Fes=e* ;N
o . <& Xe =0
d"€ = (o) ds = O
NN LAD Lft NIJI3
Caen
Giopothl f¥ dyeIN £ w
[repetHl J‘/ND'J’) £, -, £ *
et D R= T B0 (0 oot B0 2y (L

GosotH) 5 5
I
Gro,x] 05 3239 p % W57

Ao 5{ YRY BA AN NIC YD
cebx, x> R fye  (row)
€€ (xo,x) AW ,weX Pl [ ¥ C;w") gf M5ty ,

o e _";__ [y e ¢ A (0,50 57 vi#D »

$(2)= fl'x§-¢(’e)~f)—§3->-(ﬂ~%>~-~- —f-l:—fl)(x-a) g 3N R 0L
A ORI YCV R ICT)

Jeeho,): o = 2T T 777 YIUNND oD G [ [=rd o > DY
v/ () P 0 —¢ () é_}':; bo,x) K piyse by
gby=0 (CGauchy) bGo.x)  d7 14 0
Pl = Ry (0 ¥

#R)= -F(=2)
- FRY6e-2) . F12)D

~F—”’T(1ﬂ>('x~?)z + F’(2) (-2)

Fl“+ )(1) i (1) Ve plnen
U (-3)" + (5 ~ — _ () )
\J , ( n~\ )I ‘2 ‘3],\0}6 .——T\T—‘ (‘3{ 2)
Jecele,0 : ’Rn(x) == (yla)- -you) @ (c) = POy FO(y

Blouwd-Flx ) vie) ) P E )




